NTERADHB(HEBERFH
A —rh2RER—-8A—1:A—AIE A
K4
1) ROFRELGESL, (4R X58=20)

1) 531+(216—187)

2) 6.8x1.8x5.4

3) (2456+24x59)+-88

4) 151.2+(102—-52.3-28. 1)

5) (482—312+638)—(157—-85)



NTERADHB(HEBERFH
4 —rhPRER—8 A —1:8— XNBE A
K4
2) ROFEZELLEEL, (4RX5E=201)

1) (611—437)%23

2) 8.1x20.8+5.2

3) 169+485—378+105

4) 730.8+52.2—-858.2+61.3

5) (124.8+425.7)—(1023—714. 5—261. 8)



NTERADHB(HEBERFH
49 —rh2RER—8 A —1:8—KEE A
K4
3) ROEHEZELGED, (ARX58E=20R)

1) (1992+2758)+-38

2) 15.3—(6.9+2.8)

3) 77%x53—63x%x48

4) 0.9%x4.2+3.6%x2.4

5) (602+513—349) % (702—599)



NTERADHB(HEBERFH

4 —rh2RER—8 A —1:8—KBE A

K4

4) ROFEZELLGEL, (4RX5E=201)

1)

2)

3)

4)

5)

1047—(715—383)

87.36+(11-5. 8)

77 %X46+253 X508

(48.6+36.8)%x(12.5-7. 8)

(5.1+4.8-2.7)+3.6+0. 4



NTERADHB(HEBERFH

4 —rh2RER—-8A —1:A—&IE A

K4

5) ROFEZELLEL, (4RX5E=201)

1)

2)

3)

4)

5)

15%x28+21

5.6%7.1-28.99

615+15+944+16

202.4—81.5—24.6+58. 7

247x58—6789+850-+-34



NTERADHB(HEBERFH

A —thZZEBR—-8A— 18

1) ARE—@E (45 X58)
1) 560 2) 66.096

2) KIE—MRE (4R x5H)
1) 4002 2) 32.4

3) KiEg—EE (4R x5%8)
1) 125 2) 5.6

4) KIE—RRE (4R x5H)
1) 715 2) 16.8

5) &E—ME (4R X58)

1) 20 2) 10.77

A =

3) 44 4) 7 5) 736
A =

3) 381 4) 0 5) 503.8
A =

3) 1057 4) 2.52 5) 78898
A =

3) 7112 4) 401.38 5) 5
A =

3) 100 4) 155 5) 7562



